il
W
St
%
I

1. THE4
TE4 A0 6 A SR || B T i KRB R 4 T2
T4 e N e AL NE Y/ o L
2. THEHNE
1)  HEI4 RN SEET TH®
2) £ I & | T
3) L 0H M H BRFERE H o H
= SFn T 3H14H
4) TEyE

ELAma  JuN TR )R




(e WAV T RN A I e

Vvl = =
FEENFRE s
TH4 | A0 6 4FEE S B SR M X SR Rh L fi 4 g5
TEHEX Sy - THE - R B {7 ¥ & & # A bl A iR
FLLt - =X 1 83, 165, 540
LT = 1 56, 296, 771
HRHEI T = 1 60, 102 | #EH! 180 m3
/Y A7 iy PR PEEME 5, 000m3ATH ;
T 2V 1 50,981,401 | B (FL82) A 12 204 m3
2. bmAT ;
EuNE R 690 m3
2. 5mPL 4. OmARTi ;
R Zp s 14, 500 m3
WAL Bt
%+ (1CT) = 1 3,274,840 | & (BE82) BE 4 (ICT) 12, 400 m3
BT T (ICT) = 1 1,980,428 |{EMEEETE (@ L) (ICT) 3, 560 m2
EmEAEE O L
LR L 2 1 22,421, 831
e+ T 2 1 270,140 |FRIEY 1 X
+4)
HEL 1 2V
FLE e 1 =
VR VAR PV RN EVZA R VAR DY E <) =Y 1 16,234, 971 | BIsE 4T HpEav ) -} 239 m
(AZY)
18-8-40 (75 47) JEIE 52cm & 30cm ;
BUEFT/ A 1kay)) -} 1 E10
(1
18-8-40 (B ) ;
BEFT/ A 1kay)) -} 1 E10
(2)
18-8-40 (B ) ;
BEFT/ A 1kay)) -} 1 E10
(3)
18-8-40 () ;
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Vv = =
FEENFRE s
TH4 | A0 6 4FEE S B SR M X SR Rh L fi 4 g5
TEHEX Sy - THE - R B {7 % & A bl A iR
BFT/ A akay ) -} 1 =i
(4)
18-8-40 (B ) ;
BFT/ A akay ) -} 1 =i
(5)
18-8-40 (B JF) ;
BEFT/ A 1kay)) -} 1 &
(6)
18-8-40 (B JF) ;
/) =h (R%0) 77 ny ) il 175 m2
(1%)
P2 % 350 ;
/) =h (R%0) 77wy ) il 185 m2
2%5)
P8 % 350 ;
avy )= (1) 77 ny )i 92 m2
(3%)
P2 % 350 ;
Bl HT Ruiav - 233 m
(A7)
18-8-40 (B JF) ;
Bl HT Ruiav - 7 m
(BAY)
18-8-40 (B ) ;
H Hx 2 m2
TE T AHE R B M =10 ;
fiA T 2 5,916,720 |9E% 3, 560 m2
R T 500m2LA E
R T = 2,153,332
TA7 7 M2 T = 465, 140 | T/B KM (FEE - TS 658 m2
BAEITyv47/ RC-40 {1 VD JE 150mm ;
TA7 7 M2 T = 1,688,192 | F/@KM (FEE - T EH) 1,210 m2

79477 RC-40 A Y 150mm ;
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Vv = =
FEENRE s
TH4 | A0 6 4FEE S B SR M X SR Rh L fi 4 g5
TEHEX Sy - THE - R B {7 % & A pall R
R (HEGE - BRI ) 1,210 m2
BTG M-25 Y E 100mm
HEE L = 1, 855, 606
HEETE LT X 837,724 | )~ MHEXE YU L 16 m3
A EY) BhkE T
2y - Mg B L 6 m3
ERApIEEY) FAE T ;
EhAERR G 1 2V
TAT7MEZERR 15emELl T
EhAERR G 1 2V
/) )= MR 15emPA R
EhAE AR AR 1,410 m2
TA77VMERZE IR Bf2ERRIE 5 cm ;
VAR VARPYE SN 600 m2
7E7 v/ t=10cm ;
TR AL T = 1,017,882 |#%E 70 m3
TAT 7V
o 1 106 m3
av ) -bik (BERR)
DO 6 m3
/) -hik Bk
LGy 70 m3
TAT 7V
By 106 m3
av ) -bik (BER5)
By 6 m3
290 -hik BRh)
% T = 438, 000
RIEET 2 438,000 | A5 BFHEEAE E 1 =
RN X = 83, 165, 540
-3 - E A2 s SN 7
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R PERE i
THE4 | A6 R e SF X R PR i A T
THEXSy - THE - FE5 H7 & & # i Gl 2 N
iR # 2V 1 8, 659, 156
e Tre: X 1 2, 056, 156
EsZREgiis ¢ 2V 1 1,213,156 |FRSFE B (ICT) 1 E2y
VATAR 2 (1CT) 1 X
BUGBREIUEL (REH L) 2V 1 843, 000
sty (R L) 2V 1 6, 603, 000
ol T 2V 1 91, 824, 696
e R E20 1 25, 279, 000
T AT 2V 1 131, 302, 424
— e PR E20 1 21, 257, 576
N E20 1 152, 560, 000
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Vol =
FER N E
TH4 | A0 6 4FEE S B SR M X SR Rh L fi 4 g5
TEHEX Sy - THE - R B {7 ¥ & & # il bl A iR
JERRH R X 1 7,833,728
HEELT = 1 3, 542, 500
BRE LT = 1 3,542,500 | AR+ 250 m3
4. 0mPA b +TRAKRERT)
EEEET = 1 1,217,075
TA7 7 Ml T X 1 1,217,075 | /@M (BE - BRIE D) 512 m2
BTy r77 RC-40 A VW E 100mm ;
g (I - BIF ) 512 m2
AR EET 22 (20) &H%EE 50mm 3. Omid ;
BERLTT = 1 500, 198
AR — &8 )) -z i = 1 500, 198 |27/} 10 m3
24-12-25(20) (&¥F) ;
Tl e 1 X
—RE
ki 0.5 t
SD345 D13 ;
Bh AT L 2 1 2,530, 155
FRANIBA AT L X 1 276, 760 |17 =} b=b 110 m
BN Gr-C-2B 100mLA 1 AR ES A IE A
B Al T & 1 2,253,395 | BleA T AHE 7 m ) 110 m
/7Y =} 35 m3
(FR#&Eav))-h)
18-8-40 (B ) ;
Tl e 1 X
— A
H HihR 3 m2
TE T AHE R B M =10 ;
% T = 1 43, 800
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THE4 | A6 R e SF X R PR i A T
THEXSy - THE - FE5 H7 % & i Gl 2 N
A R E20 43,800 | ZZiEFEEEM A 1 E20
[P % X 7,833, 728
Hm IR E 2V 1, 391, 000
e Tre: 2V 162, 000
BUGBREIUEL (REH L) 2V 162, 000
sty (R L) 2V 1, 229, 000
ol T X 9, 224, 728
TR e gL 2V 4,974, 000
T AT X 14, 198, 728
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